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QUESTION 1

Examine this code: 

Examine this DML statement executed in the SCOTT schema: 

UPDATE emp SET comm = 1000 WHERE deptno= 20; 

What is the outcome after executing this statement? 

A. COMM is set to 1000 for all records in the EMP table where DEPTNO = 30. 

B. The statement executes successfully but no rows are updated. 

C. COMM is set to 1000 for all records in the EMP table where DEPTNO=20. 

D. The statement fails with error ORA-28115: policy with check option violation. 

Correct Answer: D 

 

 

QUESTION 2
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Which two statements are true about the migration of BasicFile to the SecureFile format by using the
DBMS_REDEFINITION package? (Choose two.) 

A. It can be performed only on tables with a single LOB column. 

B. It automatically creates an interim table during the migration process. 

C. It allows the table that is migrated to be accessed throughout the migration process. 

D. It requires free space that is at least equal to the space used by the table that is migrated. 

E. It requires all constraints defined on the original table to be re-created manually after the migration. 

Correct Answer: CD 

 

QUESTION 3

Examine this code: 
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The anonymous block fails this error stack: 

Which two changes, when separately applied, would prevent these errors from occurring? 
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A. Define v2 as employees%ROWTYPE. 

B. Initialize v1 and v2 with appropriate constructor functions. 

C. Define v2 as pkg. rec. 

D. Nothing because using the function TABLE (V1) is prohibited. 

E. Define v1 as employees%ROWTYPE. 

Correct Answer: AC 

 

 

QUESTION 4

Which two statements are correct for collecting data about identifiers in PL/SQL source code? 

A. CREATE  PLSCOPE_SETTINGS = `IDENTIFIERS: ALL\\' AS ... 

B. ALTER SYSTEM SET PLSCOPE_SETTINGS = `IDENTIFIERS: NONE\\' 

C. ALTER SESSION SET PLSCOPE_SETTINGS = `IDENTIFIERS: NONE\\' 

D. ALTER SESSION SET PLSCOPE_SETTINGS = `IDENTIFIERS: ALL\\' 

E. ALTER COMPILE PLSCOPE_SETTINGS = `IDENTIFIERS: ALL\\' 

Correct Answer: DE 

 

 

QUESTION 5

You create this package and procedure: 
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Which two blocks will execute without errors? (Choose two.) 
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A. Option A 

B. Option B 

C. Option C 

D. Option D 

E. Option E 

Correct Answer: BE 
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